find all real solutions to each equation or inaquality. For inequalities, also sketch the graph of the solution set 



3(x-2)+5=7-4(x+3) 
Solution. As 3(x-2)+5=7-4(x+3) , we have that

                        3x-6+5=7-(4x+12)

i.e.,

                    3x-1=7-4x-12

i.e.,

                 3x-1=-4x-5

So,

                 7x=-4

Hence,

          x=-4/7




w/3 +(w-4)/2=11/2 
Solution. We multiply by 6 on both sides, we get

             2w+3(w-4)=33

So,

               2w+3w-12=33

i.e.

                 5w=45

So, 

           w=45/5

i.e.,  w=9


(X+7)^2=25 
Solution.  We take square roots on both sides, we have

          X+7=5  or x+7=-5

So,

         X=-2   or  X=-12


0.006x-0.04(x-20)=2.8 
Solution. Since 0.006x-0.04(x-20)=2.8 ,  we have

                          0.006x-0.04x+0.8=2.8 
i.e.,

                        -0.034x=2

So,

                  x=2/(-0.034)

i.e.,

              x=-2000/34

i.e.,

              x=-1000/17                


3root2+4/root2= xroot18/3root2+2 
Solution.  Since 
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, note that 
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, we have
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1/x-1/x-1=1/6
Solution. We use 6(x-1)x to multiply both sides of
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, then we have

                         6(x-1)-6x=x(x-1)

So,

                -6=x(x-1)

i.e.,
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i.e.,
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Note that 
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. Hence, there are no solutions.
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